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PART - |
Physics

1. The unit of energy is- 1.

A. Electron - volt

B. Joule

C. Kilowatt-hour

D. All of the above

2. The viscosity of an ideal fluid will be- 2.

A. Zero

B. equaltol
C. lessthan 1
D. infinity

3. Electron volt is a unit of ------ . 3.

A. Energy
B. Force

C. Frequency
D. Current

4. Which is not unit of pressure? 4.

A. Torr

B. Bar

C. Newton per metre
D. Pascal

STl T HIS 8-
A. TEH alee
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3. Consider two Statements (a) & (b)

given below-
Statement (a) : Glass is more elastic
than Rubber.
Statement (b) : Steel is more elastic
than Rubber.

A. Statement (a) is false, Statement
(b) is false.

B. Statement (a) is false, Statement
(b) is true.

C. Statement (a) is true, Statement (b)

IS true.

D. Statement (a) is true, Statement (b)

is false.

Light year is unit of ------ :
A. Time

B. Energy

C. Distance

D. Velocity

5. = fo3r 7 € el (a) 317 (b) W o=

Fifsrr-
W(a):ﬁﬂl‘ﬁﬁ@ﬂﬁm
T BT Bl

T (b) : T, TR T o1 H e
T BT 2

A. FU (a) TAT &, H (b) TeAd 2
B. &9 (a) TToTd 7, FUF (b) Tal 2
C. % (a) Tl 8, HU (b) T 2
D. & (a) T& &, FY (b) Ted 2
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7. Consider two Statement (a) & (b)
given below-
Statement (a) : An object travel a
distance at constant speed, its
acceleration is zero.
Statement (b) : Velocity can be
negative, positive and zero.

A

B.

C.

D.

Statement (a) is false, Statement
(b) is false.

Statement (a) is true, Statement (b)
is false.

Statement (a) is false, Statement
(b) is true.

Statement (a) is true, Statement (b)
Is true.

8. In Simple Harmonic Motion, the
phase difference between velocity &
acceleration will be-

A.
B.

C
D.

0
/2
/4
T

7. H= {3 T FUET (a) W (b) | Femmw
hifsa-
FU (a) : T I AT ImHIA @R A
ST T I AT
T (b) : AT, I, FUCH TAT EHTHS
&1 HehelT 2

A

O O w

HY () ToTd 7, FHU (b) TTed 2
FY (a) TS €, I (b) T 2
FY (a) T &, FHA (b) T |
FY (a) TE &, F9 (b) TR |

8. TS 3T i H, T O o S
AT BITT-

A.
B.
C.
D. =«

0
/2
nl4
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9.

10.

Consider two Statements (a) & (b)-
Statement (a) : Pascal is the unit of
pressure.

Statement (b) : Soap film consists of
two surface layer.

A. Statement (a) is false, Statement
(b) is true.

B. Statement (a) is true, Statement (b)
Is true.

C. Statement (a) is true, Statement (b)
is false.

D. Statement (a) is false, Statement
(b) is false.

Consider two Statement (a) & (b)
given below-

Statement (a) : Friction is conservative
force.

Statement (b) : Gravity is a
conservative force.

A. Statement (a) is true, Statement (b)
Is true.

B. Statement (a) is false, Statement
(b) is true.

C. Statement (a) is true, Statement (b)
is false.

D. Statement (a) is false, Statement
(b) is false.

9.

10.

&1 YA (a) 31 (b) W foam Sifs-
U (a) : UTEHA ST T THTS 2

F (b) : WIS T Thed H 31 g W
gt 2|

A. &I (a) TAd &, B (b) T 2
B. &Y (a) T &, FY (b) TR B
C. U (a) HEl §, FHUT (b) TTeTd 2
D. ¥ (a) T §, HA (b) T 2

e o3 T €1 e (a) 3T (b) W o=
i

YT (a) : TIOT T oA B

FHU (b) : TECATHYT T oA 2

A. &I (a) T 8, U (b) TE 2

B. ¥ (a) TTid ©, e (b) Tl 2
C. F¥F (a) TS 8, FUF (b) T 2
D

. U (a) TAd 7, FHUT (b) TeAd &
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11. Match the following-

Group — | Group —1I
(@) Sl unit of (I) Electron
power volt
(b) 1 Horse power (I1) 9.8 Joule
(c) 1kgm (1 746 W

(d) Unit of energy (IV) Watt
A. a-1V, b-lll, c-I, d-1I
B. a-IV, b-lll, c-11, d-1
C. a-lll, b-1V, c-IlI, d-I
D. a-lll, b-1V, c-I, d-lI

12. The efficiency of the Carnot’s engine
Is-

AL Q
Q;
B. 1+&
Q;
C., Q
Q2
b. 1+&
Qy

13. The Young’s modulus of a perfectly
rigid body is-
A. zero
B. equaltol
C. lessthan 1
D. infinity

11. gifer Hifr.

12.

13.

g - | e — 1
(a) AREH SITHFR () o alee
(b) 1319 36 (I) 9.8 [T
(c) 1 fFremumr e (110) 746 W
(d) SIMHRITHRE (V) TR
A. a-1V, b-111, c-I, d-11
B. a-1V, b-111, c-Il, d-I
C. a-lll, b-1V, c-I1, d-I
D. a-lll, b-1V, c-I, d-11
T ST ohl 2&IdT BId -
A Q
Q;
B. . Q
Q;
C, Q
Qy
D., . Q
Qy
wsh U1 g frerr a1 A HTaTeR B 8-
A. I
B. 1% s
C. 190
D. 3fHd
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14. The rate of change of the momentum

is equal to-

A.
B.
C.
D.

15. In an isothermal process, the internal

Velocity
Acceleration
Force

Mass

energy of the system-

A
B.
C.
D.

increases
decreases
changes
remains constant

16. Match the following-

(a)
(b)
(©
(d)

)
(1

(1) 1.496x10' meter

Group - 1

1 Astronomical unit

1 Parsec

1 Light year

1 Angstrom
Group - 11
9.46x10™ meter

1x10710 meter

(IV) 3.08x10'® meter

A.

B
C.
D

a-111, b-1V, c-11, d-1

. a1, b-1Vv, c-1, d-11
a-1Vv, b-11, c-11, d-1
. a-1V, b-111, c-1, d-ll

14. a7 # gfad shi & e gidl 2-

A
B.
C.
D.

T H
T
JAH
ST

15. guardt yur H, fremr it i el

A
B.
C.
D.

e @
gt 8

R Bt &
[ERCEEGIE

16. girfra AR

(2)
(b)
(c)
(d)

(M
)

e - 1
IRCUIRIRAIEED
1 IREh
IREINIEL]

| G|
g - 11
9.46x10% X
1x10710 e

(1)) 1.496x10' ez
(IV) 3.08x10'° ez

A

B
C.
D

a-111, b-1V, c-11, d-1

. a-lll, b-1Vv, c-1, d-1l

a-1Vv, b-11, c-11, d-1

. a1V, b-111, c-1, d-ll

20462-XNY-VKZ-ENT-M1
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17.

18.

19.

20.

Angular velocity depends upon the
rate of change of the-

A. Angular displacement
B. Angular distance

C. Angular acceleration
D. Torque

Match the following-

Physical Unit
Quantity
(a) Torque (N kg meter 2

(b) Moment of (1) kg meterzper

Inertia second

(c) Angular  (I11) Newton meter
momentum

A. a-lll, b-1, c-1l

B. a-lll, b-11, c-I

C. a-ll, b-1, c-1ll

D. a-ll, b-111, c-I

The modulus of rigidity of water is-
A. zero

B. one

C. infinity
D. None of the above

AU is the unit of ----- :
A. Astronomy

B. Archaeological
C. Astrological

D. Astronomical

17.

18.

19.

20.

FIUTT ST, forereh afarde o @t ox feft

EXGIRY)

A. I foreemg

B. &rfagl

C. IV &or

D. Tl

gHfora Hif-

tfcrah 3T il

(a) SA et (1) fopom Hex?

(b) Stged st (1) fepam Hex
EIGESELSS

(c) IV EHRT  (III) = HeX

A. a-lll, b-1, c-ll
B. a-lll, b-11, c-I
C. a-ll, b-1, c-1l
D. a-ll, b-lll, c-I

oY ST Gl TUTTh BT 2-
A. I
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21. The value of g is -------- at poles. 21, gat It g HHAM --mom- IR

A. Minimum A. Fd9
B. Maximum B afrmay
C. Same
, C. &=t
D. Can’tsay ]
D. &g 72 dohd
22. The path of trajectory is- 22. 98 T 9 Bl -
A. Circle A 9
B. ParabIoI:c B oo
C. Simple line
P C. Wd @l
D. Any path
D. s i ay
23. The radiation emitted by hot bodies 23. T fyvel g Scatsid fafehon & ----- et
are called as- ST R
A. Black body radiation A Wﬁﬂgﬁrﬁb‘m
B. Gamma radiation
B. T fafertor
C. X-rays ]
D. B-rays C. w-fwi
D. sfter-femot

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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24,

25.

26.

Consider two Statement (a) & (b)
given below-

Statement (a) : Newton’s First law of
motion is called as law of inertia
Statement (b) : The action and
reaction forces act as same on object.

A. Statement (a) is true, Statement (b)
is false.

B. Statement (a) is true, Statement (b)
IS true.

C. Statement (a) is false, Statement
(b) is false.

D. Statement (a) is false, Statement
(b) is true.

When the temperature is increased,

surface tension of water-

A. decreases

B. increases

C. remains constant

D. uncertainty

A charge q is placed at the point of
interaction of body diagonals of a
cube. The electric flux passing
through any one of its face is-

A a
€o
B. q

6€0
C. g

360
D. 69

€p

24,

25.

26.

T f T 2 BT (a) T (b) W o)
-
W(a):m@%nﬁr%wﬁwaﬁ
STgcd o1 T wed 2|

T (b) : Toram SR wffska st a&g W
T €9 F 1 L 2l

A. &I (a) TE 2, FYT (b) TTIA B
B. %M (a) T 7, YA (b) ¥ 7

C. ¥ (a) TAd 8, Y (b) T 2
D. &9 (a) Tod 7, FU (b) Tal 2

ATIHH S 9 a1 3T I8 -

A. TedTe

B. 9gd1g

C. feRwars

D. wrfafid warg

T TSR q 3l T B o [IhUTT o el

foreg, o T T 81 ¥ o fohelt o were @
frehe arer foregd wored 2-

A q

€0
B. q

6€0
C. g

3 EO
D. 6_q
€o
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20462-XNY-VKZ-ENT-M1

34 SetA



27.

28.

V-1 graph for a metallic wire at two
different temperature T, and T, is

shown in fig.
The correct information from the
graph is-
I T,
Tz
Vv
T,=T,
T,>T,
T, <Th

Nothing can be said

O O W > o

A double convex lens has two surfaces
of equal radii R and refractive index
u=1.5, we have-

A ; _R
2
R
-R
2R

O O w

f
f
f

27.

28.

Teh HTq TR o [ a1 i arat Ty @& T,
TR V-1 U1 YEi3Td g1 U6 § T8 Gt
SIECA RS

T=Tp
T,>T
T, <Th
EEEEREIRER]

e g Sat o\ 1 1 el it Bsar R
T ] qT 9eish u=1.5 3 gH ™
5

O o w >

A f:B

2
B. f=R
C. f=-R
D. f=2R

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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29. A 29. A
¢ 6V ¢ 6V
C C T C C T
H H
C C
B B

When a battery of 6V is connected forg A TH B o e 5ol 6V ol Sl a0

between A and B, the charge stored is STreT ST @ ot Efera s1maer 1.5uC arm

found to be 1.5uC. The value of C is- AT C FT AR

A. 2.5uF A 25uF

B. 15uF B. 15uF

C. 15pF C L5uF

D. 0.1uF D. 0.1uF
30. The intensity of gamma radiation from  30. fau e =a & fereta areft T farferor S

a given source is I. On passing dfierdT I 21 36 mm HIeTs il o€ & T 0

through 36 mm of lead, it is reduced to | >

é. The thickness of lead which will T TR o T STt & et 1

I Nerd

reduce the intensity to % will be- & 2 B fere e -

A 12 mm A. 12 mm

B. 18 mm (E; ;8 mm

C. 9mm D.6mm

D. 6 mm - omm

SPACE FOR ROUGH WORK / T% &t & forr sre
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31. A conducting rod is moved with a
constant velocity v in a magnetic
field. A potential difference appears
across the two ends-

. —>
If V] ¢

B.
If v|B

C.
If Z||B
D. None of these

31.

TIh & H Uk ATeTe 8¢ Fq o v &
o &I 21 8o QT T8 9T foram=t 3=
-

S

® & vIB

C. - =
ag ¢ || B
D. 39Uk H his T8

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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Assertion (A) : The effective
resistance of the network between P

4
and Qis —r.
Q 5

Reason (R) : Symmetry can be applied
to the network with respect to the
centre.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Both Assertion (A) and Reason
(R) are false.

iR (A) : fe@me T Jeas ¥ P Ud Q
éwwgwuﬁﬁagr 3

SHWOT (R) : A2aeh | oheg oh YiLd: THTT
GUIFSIR:ETRS

A

AU (A) T FHRT (R) ST T &
TAT T (R), IATHT (A) 7 T
TSR R

AU (A) T FHRT (R) SHT T &
T SR (R), HAVHAT (A) T &=l
TR TET 2

HHYA (A) T § T HIT (R)
e T 2

ST TMFHUT (A) T HRT (R) T
T 2

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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33.

34.

Match appropriately Column —1
and 1.

Column (I

(a) Gauss Law
(b) Coulombs Law

Column (11

) $E.ds=2

€o
- %—i
() $E.ds'= -
() F=Xhd2
r
A. @—(D
(b) —(I11)
B. (a)—(I)
(b) —(I11)
C. (@—()
(b)—(IN)
D. (@—(I)
(b)—(1)
Which of the following particles will
describe the smallest circle when

projected with the same velocity
perpendicular to the magnetic field?

A. Electron
Proton

B.
C. Het
D. it

33.

34.

1ed (1) 7 (11) 3l 3fra &9 § fretrsa-
Column (I)

(a) TS @ o

(b) i T
Column (IT)

A. (@)— (D
(b)—(111)

B. (a)—(I)
(b)— (111)

C. (@)—()
(b)—(11)
D. (a)— ()
(b)—>(1)
71 3§ I |1 3h07 = o ot fmfor
HUTT ST @l 1 T GHIT AT § Tralehid
&1 o TAvaTed FaiTud foraT STTaT 82
A. TN
B. WM

C. He*
D. |t

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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35. Match the Column - | & II

Column (1)
(a) Electric field intensity (E) due
to a single charge.
(b) Electric field intensity (E) due
to an electric dipole.
(c) Electric potential (V) due to a
single charge.
Column (11
1
N a-
;
1
(m ocr—4
1
D) ocr—g
1
(V) o—

r

A. (@)— V), (b)y— (1), (c)—>(1)
B. (@—(1), (b)—=>(1), (c)—>(111)

C. (@—(), (b)—>1V), (c)—(1)
D. (a—>(1V), (b)—(1), (c)—()

35. 1 (1) W& (1) =1 3o &9 & fremsa-

(2)

(b)

(©)

(1

(1

(1)

(IV)

Column (I)
Tehe ST ok 0T forra &t
NERINES)
P fag s foge
NERINES)
Uehel HATeIT o6 ST forgld forva
Column (1)

1

o —
r

1

-

-

o3
ot
3
Otl
2

A. (@)—(1V), (b)— (), (c)y—(11)
B. (@—(), (b)—>(1), (c)—>(I11)

C. (@—1), (b)—>(1V), (c)—>(1)
D. (a)—>(V), (b)—(1), (c)—(1)

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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36.

37.

Assertion (A) : Nuclei of different
atoms have same size.

Reason (R) : R =R, AY3
A. Both Assertion (A) and Reason
(R) are true and Reason (R) is

correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false and Reason
(R) is true.

A
R —P—x
G—»
B — \
N
B C

As shown in figure light rays of blue
(B), green (G) and red (R)
wavelengths are incident on prism.
The ray of light will be transmitted
through the face AC

(ug =1.39,ng =1.424,n5 =1.476)
A. Blue rays

B. Green rays

C. Redrays

D. Blue and Green rays both

36. SANHIT (A) : To=1-Fr TTTore o6

37.

T3k =hT TR T BT Bl

#AT(R): R =R, A3

A. IRFHAT (A) T HROT (R) ST deT &
AT FHROT (R), SR (A) T T=T
TR 2

B. 31T (A) Td HTT (R) SHT T &
T SR (R), HAVHAT (A) T &l
TR TE 2

C. M (A) § 8 W] FRT (R)
T T 2

D. AR (A) TeT & & 3 FHRT (R)
O

A
R —»—x
G —»
B —» \
N

B C
Ferram ueh fisw o Hiett, &6 9 e
foreot sTafaa Bt B fisw fr vag AC
QT & aTeft fohor/fereot &
(ug =1.39,ug =1.424,ug =1.476)

A. it fopor
B. & foot
C. arat fomor
D. et ue &l oot aHt
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38. In a forward biased p-n junction diode,  38. p-n Tfer e % 7 AP U, STFET

the potential barrier in the depletion g o Uferept farra &1 T BIT-
region will be of the form-
A b Potential barrier A. “‘}W fawa

p n > p n g

B. q Potential barrier B. p T fava
p ‘\ n > p n >

C. . Potential barrier C. ]}—dﬂﬁ'ﬂﬁ
p no y‘ .

D. " Potential barrier D. AfereT g
t B
p n o $ .
p _/‘ n
39. To increase the angular magnification 39. T GawaR( o IV AT T T
of a simple microscope, we should o ToTT, BH ST IS
increase- .
A. The power of the lens A égﬁﬂ%
B. The focal length of the lens B. & '5'5"5'@
C. The aperture of the lens C. o9 T gR*
D. The object size D. El'{TgfaTi‘aT]EHR
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40. In the nuclear decay given below 40. fopeft TR &1 T FHFTTTER YaRid

XA YA 5, B fepam T ®
— 7 4B XA = gaYA -, B
The particles emitted in the sequence >, BA
are- foreheT STt SHUTT ST 3FH BT
A. o,By
A. o,B,y
B. B,a,y
B. B,a,y
C. v,.Ba
C. v.Ba
D. B.v.a
D. B,y,a

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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4. 5 on nop
’—1II—II}—|

|1
1F
p_n p_n

(circuit 1)
’—1 | | }—‘

(circuit 2)
np np

o

(circuit 3)
Two identical p-n junctions may be
connected in series with a battery in
three ways. The potential difference
across the two p-n junctions are equal
in-

Circuit 1 and circuit 2
Circuit 2 and circuit 3
Circuit 3 and circuit 1
Circuit 1 only

OO0 WP

41.

]

gRyer 3

a1 T §HM p-n Hi¥T SATE HI Tk Sl
[T Tt hH | i ThR | ST ST Hehal
21 ST p-n Tir 3 i farvyermat wam

21
A. UiTY 1 T gimy 2
B. 9Ty 2 wd gy 3
C. iUy 3 ug aiuy |
D. hadt uiay |
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42. v Iy C 2 10v
20 40 B
20
|
— V=0
The value of current | in the above
circuit will be-
A. 3Amp
B. 5Amp
C. 4 Amp
D. 2Amp

43. Match appropriately Column - | & I1-
()]
(@) Resolving power of
microscope.
(b) Resolving power of
astronomical telescope.

(1
A
) d=
0 2usin®
1 A
I ==
(1 d 2usind
D
) do=——
(I 1.22
(1V) i:i
do 1.22)

A. (@) (1), (b)=(1V)
B. (a)— (1), (B)=>(IV)
C. @ =), (b)—()
D

. None of the above

42. v 1y C l, 10V
A 20 40 B
20
|
— v=0
SR IO § YT [ ST J1 S1TT-
A. 3 TR
B. 5 TR
C. 4Tt
D. 2 TR
43. e (1) T (11) 1 3 &9 @ firersa-
@

(a) GETlt ST forivee e
(b) Tl el i forvie emar

an
A
) d=
0 2usin 6
1 A
I ==
(1h d 2usin®
D
) do=——
(I 1.22
vy Lo D
de 1.22%

A. @)= (1), (0)—(IV)
B. (a)— (), (b)) —>(V)
C. @)—(I), (b)— (1)
D. Wik H § g &
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44,

45.

46.

The angle of minimum deviation for
prism of angle %is % The refractive

index of the material of the prism is-

A B
B. V2
D. 2

%
An electron is accelerated through a

potential difference of 10,000 V. Its
de-Broglie wavelength is (nearly) :

(me =9x10 3 kg)
A 122x108m
. 12.2x1072m

B
C. 122x10%m
D. 12.2 nm

The given electrical network is
equivalent to-

B D] by

A. AND gate
OR gate

NOR gate
NOT gate

O O w

44,

45.

46.

gﬁwmﬁﬁmwmjﬁnﬁaﬁw

%%lﬁw%w&faﬁramaﬁqw%-
e

A

B. 2
“ %

D. %

T ST ot 10,000 V & faga=r &

cata foram ST 21 3u@ greree fE s
qaT 9= B (AT)
(me =9 x1073! foram)

A 122x108m
B. 12.2x10%m

C. 12.2x10%m
D. 12.2 nm

fera et feregef T eareh wwge 2-
A3

s ) DT Doty
A. ANDTE &

. ORTE®H

B
C. NORTE®
D. NOTTe &
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A7. A convex lens is made of material A7. Teh IqA A o e T IR 1.2 2l

having refractive index 1.2. If it is 3fe 38 I (u=1.33) H go fear St &
dipped into water (u=1.33), it will Y 9% ST9ER F4T-
behave like- ,
A. aconvergent lens A. T ST St A1
B. adivergent lens B. T S19EH i il E
C. arectangular slab C. U HTIATHR e shl g
D. aprism D. T fUsH &l @&
48. For harder X-rays- 48. #3R X-foptor o feru-
A. The wavelength is higher. A. T et 3=9 Bl Bl
B. The intensity is higher. B daar =g ad Y
C. The frequency is higher. - R
D. None of the above. C. ST = Tl 2
D. ST H ¥ IS el
49. | @ 49. | @
§3§2 3Q
[ 3V [ 3V
It L]
In above circuit ammeter A is a ST e § 3T A, 60Q F
galvanometer of resistance 60<2 N HIRT T 0.020Q & i ¥ 3¢
shunted with resistance 0.02€2. What ST TRIT B STHIST T | T8 9 fehat
is the current recorded by ammeter? anfio
A. 05A A 05 A
B. 1.0A B. 10A
C. 20A C 20A
D. 104 D. 10A
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50. Phase difference between voltage
across L and C in series is-

A.
B. 360°
C.

D. 180°

00

90°

50. #uft shH & L T& C % Tid: fowd § st

2-

OO w>

00
360°
90°
180°
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51. Gold number of protective colloids A,

52.

53.

PART - 11

Chemistry

B, C and D are 0.04, 0.002, 10 and 25
respectively. The protective power
follows the order

A. (A)>(B)>(C)>(D)

B. (B)>(A)>(C)>(D)

C. (D)>(C)>(B)>(A)

D. (C)>(A)>(B)>(D)
The solubility of AI(OH); is
'X'g.mol Lt its solubility product at
27° C is-

A x2

B. x3

C. 27x4

D. 27x3

Increasing order of strength of
following bases is-

A. CI” <CH4COO0™ < NH,4
B. CH,CO0™ < NH; <CI™
C. CH5C00™ <CI” < NHj{
D. NH; < CH,C00™ <CI™

51.

52.

53.

W"EIq

&ft IS A, B, C TS D & 01 6T
SFHST: 0.04, 0.002, 10 TS 25 &: Te707 31feh
WH@W%:

A. (A)>(B)>(C)>(D)

B. (B)>(A)> (C)> (D)

C. (D)>(C)>(B)>(A)

D. (C) > (A) > (B) > (D)

Al (OH); %t farerar "X 'g.mol L™ 2,
27° C W 39! forerat &-

A %2

x3

27X4

27X3

O 0w

{07 &I Shl TererdT ohT SedT 3 2-
CI~ < CH4COO™ < NH,
CH3;COO™ <NH3 <CI™
CH;COO™ <CI™ < NH;4

o o w »

NH; < CH,COO™ < CI”
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54.

55.

56.

The main factor which affect
corrosion are-

A. Position of metal in
electrochemical series

B. Presence of CO, in water

C. Presence of impurities in water
D. Presence of moisture

Assertion (A) : a -rays have greater
ionising power than B -rays.

Reason (R) : a -particle is the helium
nucleus.

A. Assertion (A) and Reason (R) both
are correct and Reason (R) is the
correct explanation of Assertion
(A).

B. Assertion (A) and Reason (R) both
are correct and Reason (R) is not

the correct explanation of
Assertion (A).

C. Assertion (A) is correct but
Reason (R) is incorrect.

D. Assertion (A) is incorrect but
Reason (R) is correct.

The shape of a molecule which has 3
bond pairs (BP) and one lone pair (LP)
Is-

Octahedral
Pyramidal
Triangular planar
Tetrahedral

O w>»

54.

55.

56.

e T S HETOT ! THTIord hid 8-

A Torgrd Trmfen Soft  arg st Reerfa

B. Sfet H 3ufterd e SAHATRES i
Fafterfa

C. STt W Juferd Fgqfeaa Al 3ufearta

D. Tt st ufkerfa

AR (A) : B -FRoT it 19T o -

foRot <t STTaftertoT &raaT Aferes Bt 2|

T (R) : o 0T Eeiarm e 2|

A. AR (A) T R (R) SHT T &,
TS FIOT (R), AR (A) i T&t
ST 2

B. AR (A) Td SROT (R) 31 &1 &,
Tg T (R), SATHHIT (A) st T2t
AT & 2

C. MR (A) HEl 8 W R (R)
TeAd &

D. 3ANHI (A) TTed & T HRT (R)
a3

Teh U H 3 ST I (BP) T Uh Thed
T (LP) &, 3] 6l ST 8-

A. ATHETRT

B. fuufiea

C. PR aHdeit
D. =qhethid
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57. Four metals Li, Na, Cu and Ag have 57. | argHAT Li, Na, Cu wd Ag % SHTIU
standard reduction potential SIHT T st

—3.05,—-2.71,+0.334 and +0.799V —3.05, —2.71,+0.334 T& +0.799V |

respectively, arrange them as per 3 3 & :
increasing order of tendency to lose = HANF I
electrons- ST 5hH T ST -
A. Li<Cu<Na<Ag A. Li<Cu<Na<Ag
B. Ag<Na<Cu<Li B. Ag<Na<Cuc<Li
C. Ag<Cu<Nac<Li C. Ag<Cu<Na<Li
D. Na<Li<Cu<Ag D. Na<Li<Cu<Ag

58. Tetragonal crystal system has the 58. fgmmaerret foreefena o Teneh Tt T
following unit cell dimensions- fomm 2t 8-

A. a=b=cand a=B=y=90°
B. azb#cand a=p=y=90°

A. a=b=cW@Wa=B=y=90°

B. azbzc W a=p=y=90°
C. a=b=c and

o =B =90°,y =120° C. a=b=c W a=p=90°,y=120°
D. a=b=cand a=B=y=90° D. a=b#c T a=p=y=90°
59. The freezing point of a 0.05 molal 59. us foe[a HH-319Hg % 0.05 AT St
solution of a non-electrolyte in water ERPEEIRRIE RS
Is-
_ )
~ aC A e
5 09C C. _0003C
¢ 00FC D, 00003C
D. —0.0093°C ' '
60. Which of the following are negative 60. = o FIF HUITHS HIATIE 22
e )
colloids? A. Fe(OH),
A. Fe(OH);Sol y
B. AS,S; 9t
B. AS,S;Sol
C. &=
C. Blood it o
D. Gold Sol D. Tt
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61. Assertion (A) : The pH of 108 M HCI
Is not equal to 8.
Reason (R) : HCI does not dissociate
completely in very dilute solution.

A.

62.

Assertion (A) and Reason (R) both
are correct and Reason (R) is the
correct explanation of Assertion
(A).

Assertion (A) and Reason (R) both
are correct but Reason (R) is not
the correct explanation of
Assertion (A).

Assertion (A) is correct but
Reason (R) is incorrect.

Assertion (A) is incorrect but
Reason (R) is correct.

Which ion has maximum magnetic

moment?

A.
B.
C.
D.

63.

Mn2+
Fe2+
Ti%t

Cr2+

Heat of neutralization of an acid with

a base is 57.1kJmol™* when-

A.
B. acid is weak and base is strong
C.

D. both acid and base are strong

both acid and base are weak

acid is strong and base is weak

61.

Hfepe (A) : 108 M HCI *T pH 8

RERK
HROT (R) : AT dferera § HCl
%ﬁm@hﬁ%ﬁm%l

A

TR (A) TE I (R) SHT Tt
TS FIOT (R), AR (A) i T=T
ST 2

FARNFHAT (A) TS HRT (R) ST &t &
Td HRT (R), HATHEHIYT (A) s T2t
AT & 2
HMNHAT (A) F&T 8§ TG R (R)
TeAd &

HMHY (A) TTAd & T HRT (R)
CHE

62.

>

63.

OO0

HITE T T FIFaehId ST HATTer o2

Mn2+
Fe2+
Ti%*

Cr2+

T 3R TG Uo &I o eI TR §

SeTeferor 3saT 57.1kJI mol ! 2, Sieifh-

A.
B.
C.
D.

TP eI & T & goied &
3TFA U &R QT 99 ©
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64.

65.

Among following statements, correct
statement is-

A. Low temperature favours extent of
adsorption

B. Extent of adsorption increases
with increasing surface area

C. Permanent gases adsorb easily by
adsorbent

D. Activated charcoal is a good
adsorbent.

Match List - I with List - 11 and select

correct answer using following codes-
List - | (Catalyst)

(a) Nickel

(b) Anhydrous Aluminium
Chloride

€ V205

(d) Mycoderma aceti

(e) Fex03
List - 11 (Manufacture)

(I)  Conversion of SO, into SO;

(1) Conversion of ethyl alcohol
into acetic acid

(111) Hydrogenation of VVegetable oils

(IV) Friedel - Crafts reaction

(V) Bergius process of synthetic
petrol

A. a-lll, b-1V, c-1, d-1l, e-V

B. a-l, b-1ll, c-1V, d-ll, e-V

C. a-V, b-1V,c-lll, d-11, e-1

D. a-ll, b-l, c-1Il, d-V, e-1V

64.

65.

07 ShoT o e wel e B-

A. T arasea stferemeor i a6 fo
TR ©

B. UB& & Jfeq & TRt St € §
gfeg et @

C. TTR T ST ATIIoT STfersmees gy
TAT A BT ®

D. sk IehIcel Ueh IaH TR 2

=il - 1! &=l - 11 8 gafard o e i

ol g ¥ TEl I I Hifer-
Tt — 1 (IUTF)

(a) TIat

(b) TS THHIIH FAES

(c) Vy0s

(d) wTgeRISTHT Tfbfe

(e) Fey03
=it — 11 (IcaT1e)

() SO, = SO H ftEdH

(1) e Tehleet w1 ufifess v &
afterd

(I11) FTEafd d T BTHSISIHIRTOT

(IV) Thieat shrae Tferfshan

(V) HYANeh U2ieT &1 siiare sk

A. a-lll, b-1V, c-I, d-11, e-V

B. a-l, b-1ll, c-1V, d-11, e-V

C. a-V, b-1V, c-lll, d-11, -l

D. a-ll, b-1, c-111, d-V, e-1V
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66.

67.

68.

A radioisotope has a half life 10 days.
If today there is 125 g of it left, what
was its mass 40 days earlier?

A. 600 g.
B. 1000 g.
C. 1250 g.
D. 2000 g.

At equilibrium K, =1 then-

A. AG°=0
B. AG°>0
C. AG°<0
D. AG°=1
Arrange the following electrolytes as

per decreasing order of their Van’t
Hoff factor (i) (o =100%dissociated)

NaCl, Al,(SO,),FeCl;,BaCl,

A. Al,(SO,4); >BaCl, >
Na Cl >FeCl,

B. FeCl;>BacCl, > Al,(SO,);
> NaCl

C. NaCl>FeCl;>BaCl,
> Aly(S0,)s

D. Al,(SO,); > FeCl; >
BaCl, > NaCl

66. weh ST qHEATHE i 1€ FAHA 10

67.

68.

feT 31 afe et 3EF 125 ¢ AT TR,
ar 40 fo q&f Sh! 7T AT off?

A. 600 g.

B. 1000 g.

C. 1250 g.

D. 2000 g.

HTFIeEe | K, =1 gl -
AG°=0

AG°>0

AG°< 0

AG°=1

o w >

©

FfTRET SeiagIciTSed i 3o v BTt
TR (i) o FIS SRH o STTHTL SHAET i
(o =100% fer=nfera)

NaCl, Al,(SO,)s, FeCls, BaCl,

A. Al,(SO,4); >BaCl, >
Na Cl >FeCl,

B. FeCl; >BaCl, >Al,(SO,)3
> NaCl

C. NaCl>FeCl; >BaCl,
> Al»(SO04)3

D. Al,(SO,4); >FeCl; >
BaCl, > NaCl
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69.

70.

Among following chemical reactions,
first order reaction is/are-

A. 2H,0, —2H,0+0,

B. 2N,0s — N,0, +0,

C. CH,COOC,Hs +H,0
_HY  CH,COOH + C,H-OH

D. 203 - 30,

Match List - | with List - Il and select
the correct answer using following
codes.

List - 1
(@) Aufbau principle
(b)
Hund’s rule
(d) Balmer series
(e)
List - 11
Line spectrum in visible
(1) Photon
(try mvr
(V) Orientation of electron in an
orbital
B. a-l, b-ll, c-ll, d-1V, e-V
C. a-ll, b-I, c-1ll, d-V, e-1V
D

Angular momentum
(c)
Planck’s law
M
region
(1V) Electronic configuration
A. a-lll, b-1V, c-I, d-ll, e-V
. a1V, b-lll, c-V, d-1, e-11

69.

70.

1 Tamartaer srfrfema o wer yog wife
1 TR 2/2-

A. 2H202 —> 2H20+02
B. 2N205 —)N204+02
C. CH,COOC,Hs + H,0

+
~H  CHLCOOH + C,HOH

D. 203 —» 30,

gl - 1ol g=ht - 11§ gaferd s e e
1 FERIAT § "l 3T =i -
-1

AT fHegT=q

IV HaT

TUS T f1aw

ST Soft

ik o I

gl - 11

(I) 3998 § {aeh Juishy

(1) ®eH

(III) mvr

(1V) SAaeTieh fa=amea

(V) SAGH T ATfeieet § tfufemma
A. a-lll, b-1V, c-I, d-11, e-V

B. a-l, b-11, c-111, d-1V, e-V

C. a-ll, b-l, c-lll, d-V, e-IV

D. a-lV, b-lll, c-V, d-1, e-11

(2)
(b)
(©)
(d)
(e)
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71.

72.

73.

74.

Which of the following processes
involve smelting?

A. Al,03-2H,0 —> Al,03 +2H,0
B. ZnCO3 — ZnO+CO,

C. Fe,03+3C—2Fe+3CO

D. 2PbS+30, — 2PbO+2S0,

The magnetic moment is associated
with its spin angular momentum and
orbital angular momentum. Spin only

angular moment value of cr* ion is-
A. 3.87 BM

B. 3.47 BM

C. 357BM

D. 2.87 BM

Which among the following is an

essential chemical reaction for the
manufacture, of Pig Iron?

A. F8203 +S—>2F€+SO3
B. F9304 +S—)3F€+SO4

C. FeS+C—>Fe+CS
D. Fe,0O3+3C—2Fe+3CO

The Complexes
| Co(NH3), | [Cr(CN), | and

| Cr(NH3), | [Co(CN), | are the

examples of which type of isomerism?
A. Linkage isomerism

B. Co-ordination isomerism

C. lonisation isomerism

D. Geometrical isomerism

71. fefafga § 9 forg gfskar & wreq nfae

&7

Al,03-2H,0 — Al,05+2H,0
ZnCO3 — Zn0 +CO,
Fe,03+3C — 2Fe+3CO
2PbS+30, — 2PbO +2S0,

oo w >

& IV TolT & HTe 2 Cro* 3
T haret =T AT T A -

A. 3.87 BM
B. 3.47 BM
C. 3.57BM
D. 2.87 BM

. four 3 & fAmtor & for fAefafaa g o

I ©T ek ATIIH TE e AT 82
A. Fe203 +S—>2FE+SO3
F9304 +S—)3F€+SO4

B
C. FeS+C—>Fe+CS
D. Fe,03+3C—2Fe+3CO

+ W% | Co(NH3), |[ Cr(CN)g | w

[ Cr(NHg)g | [ Co(CN) | foher s
TSI o 32TE0T 27
A. Tofehst gaTE™EaT

B. SUHREIIS HHTSILT
C. AT "HIEIIIdAT
D. ST FHTE=—EdT
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73. In which of the following acid-base

76.

titration, the pH is greater than 8
equivalence point?

A. Acetic acid verses Ammonia

B. Acetic acid verses sodium
hydroxide

C. Hydrochloric acid verses
Ammonia

D. Hydrochloric acid verses sodium
hydroxide

The question given below consist of
an Assertion (A) and a Reason (R).
You have to choose the correct
answer.

Assertion (A) : Highest Oxidation
states of ‘d’ block metals are usually
seen in oxides and oxo-anions.
Reason (R) : Oxygen is capable of
forming drn—pr bonds with metals.

A. Both Assertion (A) and Reason
(R) are correct statements and
Reason (R) is the correct
explanation of Assertion (A).

B. Both Assertion (A) and Reason
(R) are correct statements, but the
Reason (R) is not the correct
explanation of the Assertion (A).

C. Assertion (A) is correct, but
Reason (R) is wrong statement.

D. Assertion (A) is wrong, but
Reason (R) is correct statement.

75.

76.

Frferfiad o & forer STVt - &I STHTo T

pH S,W%ﬁﬁﬂmfﬁm%’

A. THifF o1t foeeg st

B. uwHifesk ot fareee wifeaw
NESIESIES)

C. TSI et faeeg Smifam

D. EESiadiie 37 faeee difsad
NESIESIES)

o f oo & Tram (A) U &R (R) T

2, STTIh! T ST T = AT 2

3TET (A) : ‘d’ @S YTl o I

SATFE TSRO ST AT 37k

HATFATSE Ue HATHAI-GATA H @ | 7T

2l

T (R) : SRS i AT o6 AT

drn—pn S T <Y &THT el 2

A. M@ (A) Td SRT (R) SHT T heF 2,
Td T (R) ETET (A) T Tl AT
LT 2

B. 3T (A) Td HRIT (R) HT T 9T &
T SR (R), 3T (A) T Eal et
TE LT Bl

C. @M (A) U 8, T R (R) A
HYT 2

D. IMET(A) €A 8, T HRT (R) HE
FHIT B
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77. Although sulphur is less

electronegative than oxygen, H,S is

more acidic than H,0. This is

because-

A. H,S isagaswhile H,O isa
liquid.

B. H-S bond is weaker than H-O
bond.

C. Water is a highly associated
compound.

D. The molecular weight of H,S is

more than that of H,O.

78. Which of the following element
cannot be detected by Lassaigne’s
test?

A. Sulphur
B. Nitrogen
C. Fluorine
D. None of these

. TN GOH, SIS § FH Tl

F/UMCH ¢, AT H,S, H,0 ¥ e
ITRA B FANTeh-

A. H,S T 19 8, Wi H,0 T 59 2
B. H-S &, H-O &4 ¥ goicd &

C. St U ot WfUTdl AT

D. H,S & UMK, H,y0 & AR 2

. Feafafaa @ 8 S99 aca = A9 gheor

ST JATHAT T TR ST TehalT?

B. ATEINA
TARI

. TTH I TR
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79. Match items of Column I with items
of Column Il and assign that correct

80.

code.
Column |
(@) Cyanide process
(b) Froth floatation process
(c) Electrolytic reduction
(d) Zone refining
Column 11
()  Extraction of Al
(1) Extraction of Ag
(111) Dressing of ZnS
(IV) Ultrapure Ge

A. a-1V, b-Il, c-ll1, d-1
B. a-ll, b-lll, c-I, d-1V
C. a-l, b-1l, c-Il, d-IV
D. a-ll, b-l, c-1V, d-1lI

Which of the following electronic
configuration of an atom has the

lowest ionisation enthalpy?
A. 152 262 2p3

B. 152252 2p°

C. 152 252 2p8 36

D

+ 152 252 2p6

79. TR | T FEGSAT T TR [1 T g §

80.

e we welt e fAfdy Y
Rl

(a) WRAES faedt

(b) T oore faredt

(c)  Tomrd sro=ra
(d)  aFIMEA

TR 11
D) Al oo
(1)  Ag 1 oy
()  ZnS s gfE
(IV) AfRres Ge

A. a-1V, b-Il, c-lll, d-1
B. a-ll, b-lll, c-I, d-1V
C. a-l, b-Il, c-1lI, d-1V
D. a-ll, b-l, c-1V, d-1lI
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81. Assertion (A) : Low spin tetrahedral 81. =T (A) : T =Rl Srhetehld Eehe el

complexes are not formed. GERE

Reason (R) : For tetrahedral FT (R) : TIHEHT Gt 5 FFT CFSE

complexes CFSE is lower than pairing - N

energy. T A I it o 7 Il 2l

A. Assertion (A) and Reason (R) both A. TET(A) ITHA (R) SHT TR,
are true, Reason (R) is the correct HTOT (R) T (A) Tl T SARSAT LT
explanation of Assertion (A). 3

B. Assertion (A) and Reason (R) both
are true, but Reason (R) is not the

B. 6T (A) 3T HRT (R) SHT T 2,

correct explanation of Assertion Qfehel T (R) ST (A) o1 @t
(A). STEAT T LT 2

C. Assertion (A) is true, Reason (R) C. Tm@ET(A) GEl &, FRT (R) T 2
is false. ' ’

D. Assertion (A) is false, Reason (R) D. =TT (A) T &, F0T (R) Fel 2
Is true.

82. Which of the following statement is 82. S NaCl T K,Cr,0, o fisir st 915
not correct, when a mixture of NaCl & H,S0, o @rer et efft e forar ST 2,
K,Cr,05 is gently warmed with conc. BrerforRiae 3 21 o e w30
H,S0,? '

A. T AT a1 fehetar 2l

B. 9T sk NaOH o foreraa # yenfea

A. A deep red vapour is evolved.
B. The vapour when passed into

NaOH solution gives a yellow T T, NayCrO,, 3l e forerzr
solution of Na,CrOy. ITH 81T 2

C. Chlorine gas is evolved. C. AR 1 ke 21

D. Chromyl Chloride is evolved. D. shiftet Feiiree fasia BT 2

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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83. The following acids have been
arranged in the order of decreasing
acidic strength.

CIOH (1), BrOH (11), IOH (111)
Identity the correct order.

A I1>1T> 11
B. HI>11>1
C. I>11>1ll
D. I>1>1l

84. Match the compounds given in
Column | with the shape given in

Column Il — Mark the correct option.

Column | Column 1l
(a) XeF4 () Distorted
octahedral

(b) XeOF, (1) Square planar
(c) XeO3 (1) Pyramidal

(d) XeFg (IV) Square pyramidal

A. a-l, b-ll, c-1V, d-ll1

B. a-1V, b-1ll, c-I, d-ll
C. a1V, b-l, c-Il, d-1ll
D. a-ll, b-1V, c-1ll, d-I

83.

84.

foT 37T ot 37k STt T o Ted
o H safterd foram e )

CIOH (1), BrOH (I1), IOH (I111)

& o h! e shisa|

A 1>111>11

B. lHI>11>1

C. I>11>1

D. I>1>1ll

TR [ 1 3 T Fiffrent o6t TanT 11 1 sEeht
HEEAT o a1 et Hisfia) v we fommeq
1 fafeed s

T |
(a) XeF4
(b) XeOF,

W 11
(1) fooha sTEwah
(1) TR THaA
(c) XeOz  (IIN) Touifrea

(d) XeRy (1V) TR e
A. a-l, b-Il, c-1V, d-111

B. a-1V, b-I11, c-I, d-II

C. a-lV, b-1, c-ll, d-l

D. a-ll, b-1V, c-lll, d-I
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85. Following statement regarding the
periodic trends of chemical reactivity
of the alkali metals and halogens are
given. Which of these statements
gives correct picture?

A

86.

In alkali metals, the reactivity
increases, but in the halogen it
decreases with increase in atomic
number down the group.

The reactivity decreases in the
alkali metals, but increases in the
halogen with increase in atomic
number down the group.

In both alkali metals and halogen
chemical reactivity increases with
Increase in atomic number down
the group.

In both alkali metals and halogen
chemical reactivity decreases, with
increase in atomic number down
the group.

Find the correct order for the easy

formation of free radical.

A.
B.
C.
D.

87.

3>20>1°
10> 20> 3°
20>10>3°
20>3°>10

Vitamin By is known as-

A.
B. Cobalamin
C.

D. Pyridoxine

Riboflavin

Thiamine

85. &I ¥l TH RAISH hT TET
foreTfTeTaT ot STTardt Sl o ey 8
Frferfiad o fed 3 81 8 § shie
U e TR T 82

A

&R et ot foranfreran et €,
Qifer Taits o fordl &g o =
TRHTY] S i afRE § Hedt B

8T T3 Sht ForamRiter st 2,
ifer et o fordr arve & A=
TRHTY] AT Y JfeE & e 2

& AT T BAISH G H EHE o6
fr Ty e <Al gfes o e
ERINIGGICEIR

& AT T BAISH G H 6HE o6
fr 26T TR RHATO] T | gRE o A

TR fsramsfietdr &9 81 STt )

86.

e {fgehet o SATE Haior o forg w2t s

T Y

A.
B.
C.
D.

foretfirT B =1 ket STTaT 2-
A.
B.
C.
D.

87.

3>20>1°
10> 20> 3°
20>10>3°
20>30>1°

WECINTICED

HISATATHTST
T

RIS ]
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88.

89.

90.

91.

Which of the following compound

will form secondary amine on reaction

with LiAIH,?

A. Methyl cyanide
B. Methyl isocyanide
C. Acetamide

D. Nitroethane

Give the IUPAC name of-

A

3-methyl 1,3-diene
2-methyl 1,3-diene
2-ethyl 2,3-diene
All of the above

SO w>»

Ciprofloxacin is used as an antibiotic,
this statement is true or false?

A. True
B. False
C. True & False both
D. None of the above

Which one of the following does not
contain the — COOH group?

A. Picric acid
B. Aspirin

C. Benzoic acid
D. Ethanoic acid

88.

89.

90.

91.

frfaRaa & @ & @1 Ak LiAIH, &
ey feafsrar s o fgdres o

SATETT?

A. TreTse wrsTse

B. firmsa ssarsEe
C. Ufemise

D. ATEgiees

29 ANfTes T TUPAC 19 3T 22

A

A. 3-frermser 1,3-s7

B. 2-firemsst 1,3-sH

C. 2-3uT3A 2,3-S1e

D. 3T @t
et st SuaT e

&Y | foRaT SITAT 7, I8 U g 8 AT
IHH?

A T3
B. 39X

C. I g 3T el

D. 36 & IS T

fefeRad # & fore 7 — COOH w8
IS T2 22

A. Tl o

B. wiHfe

C. SFSIgh 3T

D. IS o
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92.

93.

94.

How many hydrogen atoms will an
alkane with 6 carbon atoms have?

A 11
B. 12
C. 13
D. 14

Match the following.

List— | List — 11
(a) Polymer () R-NH-COOH
(b) Carbohydrates (1) CoHg
(c) Hydrocarbon (I11) Nylon-6
(d) Proteins (IV) CgHy206
A. a-1V, b-ll1, c-11, D-I
B. a-lll, b-1V, c-II, D-I
C. a-ll, b-1ll, c-I, D-1V
D. a-1V, b-ll, c-11, D-I

Hybridization of carbon atoms in
following compound CH, =CH,

A. 3

spS —sp
B. sp?—sp?
C. spd_sp?
D. sp—sp

92.

93.

94.

6 TSI ICATULAT STeT Teh 3R | fohe
HECIEER I RRY
A. 11
B. 12
C. 13
D. 14
Tl fire )
gl - gt 11
OERSED () R-NH-COOH
(b)wEEESe (1) CoHg
(c) &3eiET  (111) Nylon-6
(d) ST (1V) CgH1206
A. a1V, b-1l1, c-Il, D-1
B. a-lll, b-1V, c-II, D-I
C. a-ll, b-111, c-I, D-IV
D. a-1V, b-Il, c-1I1, D-I
FrreAfeTRara ifires # shrele aTaTost s
HeRTOT T 82 CH, = CH,

Tt - 11

A sp3_gpd
B. sp2 _sp?

C. Sps_spz
D. sp—sp
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95. Give the IUPAC name of following 95. famfafiaa e &1 ITUPAC T €ifsTe-

compound- CH,
CH3 |
! CH3 = CH = CHZ- C - CH3
CH3 - CH - CHZ- C - CH3 ! !
CI:H CI:H CH, CH;
1
L 3 CHy
CH;
A. 2,2, 4-trimethyl h A2 20%

. 2, 2, 4-trimethyl hexane ‘
B. 4, 4-dimethyl 2-ethyl pentane B. 4, 4-STRIHRART 228112 ﬁ%:r
C. 2, 2-dimethyl 4-ethyl pentane C. 2, 2-STRfeE 4-gumeet e
D. None of these D. 34 ¥ %5 Tl

96. Match the following. 96. wEt e iy
List—1 List—1I o= o= — 11
@ Alqohol () COOH (a) :ﬂ?«ﬁ%?r_ () COOH
(b) Acid (1) CHO
(©) Amine (1) NH, (b) UES (@) (1) CHO
(d) Aldehyde (V) OH (c) AR (I NH,
A. a-IV, b-1, c-lIl, DI (d) UWeselks  (IV) OH
B. a-ll, b-1V, c-111, D-I A. a-1V, b-l, c-111, D-11
C. a-lll, b-11, c-I, D-IV B. a-ll, b-1V, c-111, D-I
D. a-1V, b-Il, c-111, D-I C. a-lll, b-Il, c-1, D-1IV
D. a-1V, b-Il, c-111, D-1
97. Which of the following compound is 97. ffafad o & =i a1 Aifies fae 7t 22
not chiral?
A. DCH,CH,CH,ClI
A. DCH,CH,CH,CI
B. CH3CH,CHDCI
B. CH3CH,CHDCI
C. CH3CHDCH,CI
C. CH3CHDCH,CI
D. CH3CHCICH,D
D. CH3CHCICH,D

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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98. What is the correct sequence of
stability of carbocation?

A.
B.
C.
D.

3>20>1°
20>10>3°
10> 20> 3°
20>3°>1°

99. Which of the following is a fat soluble
vitamin?

A.
B. B

C.

D. None of the above

A

C

100. The boiling points of ether is ---- the
B.P. of alcohol of comparable
molecular mass.

A

Lower than

B. Similar to
C.
D. Much higher than

Little higher than

98. SHISThIIIT oh TATRIcT T & ShHl T 22
30>20>1°
20>19>3°
10> 20> 3°
20>30>10

OO w>

99. frfcTRad ® & =9 |1 9ET H gl
ECUEERY

A. A
B. B
C. C
D. SWieh & ¥ s Tl

100. gwqetter AU ATed ST T AT

IAhIEA & FIUATH H - BT B
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PART - 111

Mathematics wfora
1. - 101. . —
Convert the complex number _16 aftysy g _16 EARCiDRCR:)
1+iV3 1+iv3  °
into polar form. Teferq)
A 8 COSE—iSinz—n] A. 8 COSE—iSinZ—n
3 3 3 3
B. 2t . . an B o
8| cos—+isin— "8l cos==4+isin==
3 3 3)
C. 3t .. 375] C 3 3
8| cos—+1sin — " 8| cos== +isin==
4 4 4 4)
D. 8 COSs—n—iSinS—nj D 8 (:033__|s|r]3_1-E
4 4 4
102. 1 0 2 102. 1 0 2
If A=|0 2 1], afe A=[0 2 1|, drTqe
2 0 3 2 0 3
Then find the value of the matrix. A3 _6A2 +7A + 21T HH B
A3 —6A? +7A+2l, (I-Unit matrix) (I - Teheh 3TE)
A [1 02 A1 0 2
021 02 1
2 0 3 20 3
B. 1(1) 2 i’ B. [103
> o 31
301 212 0 1
000 00 0
000 000
D _1 0 0 D _1 00
010 010
001 00 1
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103.

104.

105.

Which statements are true for the
Square Matrix A?

A. A Square Matrix A is invertible
< A'is non Singular Matrix

B (aci A)| =l

C. 1

(AB) ' = A8

adj(AB)

D. Above all are true

The third term of a Geometric
Progression (G.P) is 9. The product of
its five first term is ----

A. g5
39
310

O O w

312

. 15 .
For the Matrix A:[6 7} (A+A") is-

A. Inverse of Matrix A

B. Symmetric Matrix of A

C. Skew Symmetric Matrix of A
D. Non Symmetric Matrix of A

103.

104.

105.

I |1 YA RN ST A % fg g

27

A. TF THR T FHATTE B <
A T AR HATE 2

B | (wifir A) | = A2

C (mB)? =ﬁ IR (AB)

D. IRk &t ¥ 2

T TR AT 3T T U8 9 B AT Ieed aie
TG % TUHHE T I foheHT ST

A. g5

OO0 W
“%
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106.

107.

108.

In how many ways can 5 girls and 3
boys be seated in a row so that no two
boys are together?

A. 6!
X
B. 51
C. 41
D. None of the above

Which of the following statement is
true for the quadratic equation

ax2 +bx+c=0?
A. Two distinct real roots, if
b2 —4ac>0

B. Two equal roots, if b? —4ac=0

C. No real roots, if b% —4ac <0
D. Above all are true

How many two-digit numbers are
divisible by 3?

A. 30
B. 31
C. 32
D. 33

106.

107.

108.

5 TTEfRAT 3 3 TS ! Uk Uitk U ford
TE U 31 ST Tohd 8 foh 2 ofeah U a1y
T332

A. 6!
B. 5!
C. 41

D. 390k § ¥ IS &

I ©T he T Sientor
ax? +bx+c=0 % U g/ g &
A. 3 fafi areafaes 7o, afs
b% —4ac>0
B. gromm e, afe b% —4ac=0

C. Ttk TS e, AfE b? — dac < 0
D. IWrh aft ot &

a1 37 aTet foha Tt 3 @ fornfora femam
ST Tkl 22

A. 30

B. 31
C. 32
D. 33
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109 ¢ x+iy:%, then find the value of 0> afi x iy - :+:E, q x2 +y? HAA
X2 1y2. BIGEAIE 1Y
Al Al
B. 2 B. 2
C. 3 C. 3
D. None of the above D. s & wE T
110. In the given figure ABC (Triangle) 110. fed 73 forr ABC (st o aniver srder
which of the following is not true? 29
C c
A B
A B
A. > o> > A L
AB+BC+CA=0 " AB+BGACA—0

B. - - - B N N N
ABTBC-AC=0 " AB+BC-AC=0

C. - o - c N N
AB+BC-CA=0 " AB+BC-CA=0

D. - - - D N N N
AB-CB+CA=0 " AB—CB4CA=0

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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111.

112.

113.

Find the projection of the vector
H ~ ~ A

a =2i+3j+2k on the vector

% A ~ A

b=i+2j+k.

A.

>0

2

N3

5

CE\/E

5

D. 5
26
56

w

% A A A
If a =51—j-3k
= . . .
b =i+3j-5k
Then which of the following statement
are true?

A (- > - -
a+b|and| a—-b | are
perpendicular

B. (» - - >
a+b |and| a—Db | are parallel

C. Above both are true
D. Above both are false

When 6" —5n is divided by 25, how
much will always be the reminder?

Al

B. 2
C. 3
D. 4

111.

112.

113.

- ~ A ~
afdsr a =2i +3j+2k 1 afew
> . A A
b =1+2j+Kk T I&HUT 1 Fifeg
A.

>

2

N3

5

N3

5
D. 5

26

NG

W

O

RN
a =

A

afg 5|—]—3IA<

- . n ~
b =i+3j-5k
s o3 T 0 @ T YT T 27

A (2+3]3ﬁ1 (;—gj NI=CoES
B. (- - - -
(a+b]3ﬁt [a—b] R

C. ST M uer e
D. 39Uh S TTAd ©

6" —5n i 25 O forarierd ferar sTaT 2 @t

E VS B \S)

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-XNY-VKZ-ENT-M1

34 SetA



114. Which of the following relation is true 114 7= ATET (|41 ), TONI AL (A1)

of Arithmetic Mean (A.M.), S T W (2. 3 fore R T A @
Geometric Mean (G.M.) and .. R
Harmonic Mean (H.M.)? LRI LR
2 _
A (GM.)? =AM.xHM. A. (THL)? =|HL x AL

AM.>G.M.>H.M. AL > THT > THL

B. (AM)? =GM.xHM.
AM.<GM.<HM.

B. (A1)’ =T x T
AT < THT < BAL

C. (HM)? =AM.xGM, C. (RHL)’=¥HL. x T
AM.<GM.<HM. AL <THT<EHT
D. None of the above D. 39h | ¥ 1S Ial
115. Find the angle between the plane 115. gaqa x+2y—3z+4—0 WW‘(@T
X+ 2y—3z+4=0and the line whose
’ s 3 1 fSraeh! foep A
direction cosine are —, —, \/_ \/_ J_
V14’ V14’ V14 HET T hI0T JT -
A cos‘l(ij A. cos‘l( 5 j
14 12
B. . 4(5
sin ﬂ) B. sin‘l(i)
c. cos* L j C. 1( j
14 12

" (i) > s3]

116. If the line 2x—y+k =0 isthe diameter ~ 116. yfraq 2, (2 6x _py+5-0 =

of circle x%+y? +6x—6y+5=0, then @I 2x—y+k=0 Tk =
k= A. 6

A. 6

B 9 B. 9

C. 5 C. 5

D. 2 D. 2
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117. How many solutions of the equation 117. siqua [0, 2x] © wefertor

tanx+secx =2cosx lying in the tan X +SeCX = 2Cos X % Frd Bt 8
interval [0, 2nt]?
A 1l
A 1l B 2
B. 2 c. 0
C. 0 D 4
D. 4
118. 118.
The value of sin — sin o sin In is- sin — sin o sin In T T 2TI-
18 18 18 18 18 18

A 1 Al

6 6
B. 1 B. 1

4 4
C. 1 C. 1

8 8
D. 1 D. 1

2 2

119. The length of perpendicular from 119. féig (3,1) §L@T 4x +3y+20=0 W A
(3,1 online 4x+3y+20=0 is- T oTFel shl SARaITS BIf-
A. 6 A 6
B. 8 B. 8
C. 7
D. 10 C.7
D. 10
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120.

121.

If the lines 2x+3ay-1=0 and
3x+4y+1=0 are mutually
perpendicular, then the value of a is-
Al
B. 2
C. 1
2
D. -1

Which of the following is correct
statement?

A. The straight line y =2x+2 does

not meet the parabola y? = 2x if

7»>1
4

B. Vertex of the parabola
11

X2 +4x+2y—7=0 is [—23)
C. The straight line y=mx+c will

touch the parabola y? = 4ax if
alc=m
D. Allis correct

120.

121.

afe @ 2x +3ay —1=0 qAT
3X+4y+1=0 ITTH H TR Faad &
a T 9T BT

A.
B.
C.

Nl M

D. -1
2

fifoRd o T e sIarsa
A @AET y = 2x + A, TaAT y2 = 2x
A1 et i )t k>%

B. qtaet@ x2 +4x+2y-7=0 H 3y
. 11) »
ﬁa(-z,?j%

O

C. TAWT y=mx+c, T
y? = dax B WA RO AR a/c=m

D. afiga?

122. If the direction cosines of a line are 122. (111)
(1 1 1) Ffe; fepelt T #ht foep hisamd (E’E’Ej g,
—,=,= |, then-
ccec ar-

B. C>2 B C>2
C. C>0 C C>O
SPACE FOR ROUGH WORK / T% &1 & o1 s17re
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123. The angle between the lines

X—_2=y__|_1,Z=2 and
3 -2

X-1 2y+3 z+5 is-
1 2 2

A. =w/2

B. n/3

C. n/6

D. n/4

124. What is the equation of plane that
passes through the points (2,1,-1)

and perpendicular to each of the

pl

X

A
B.
C.
D.

125. If
m
Si

A.

B.
C.
D

anes, 3x—5y+7z-2=0 and
+y-2z2+3=0

3x+13y-8z+11=0
3x+13y+8z+11=0
3x—-13y+8z-11=0
None of these

a, B,y are the angles which a line

akes with axes, then

n2a+sin2[3+sin2y:

w NN B O

123.

124.

125.

et X—2=y—+21,z=2?r9ﬂ

x-1

3
_2y+3 z+5 :
=== o 1= ShT ShHI0T BT

. w2

/3
/6
nl4

36 G o1 1. T T S fefg At
(2,1,—1) | TTSRAT & T GHAA
3X—-8Yy+7z2-2=07dIT x+y—-22+3=0
& AV 87

A. 3x+13y-8z+11=0

B. 3x+13y+8z+11=0

C. 3x-13y+8z-11=0

D. 378 ¥ #IE Tt
e =TS @ 3187 o | o, B,y 0T ST

gaw sin2a+sin2[3+sin2y:

A.
B. 1
C.
D

0

2
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126. If o and p are the solutions of 126. afg o 9T B AHEHWT atanO+bsecO=c

equation atan©+bsec® =c, then % & 2l a1 feifehd & i |7 |et 27
which of the following is correct? A 2ac
A. 2ac tan(a—B)=——
tan(a—B)= 5 ac+c
a‘+c
B tan(a+p)= 2ac
B. tan (o +B) = 22ac2 a2 _ 2
a‘-c
C. 2ac
tan(a+p)=
C. tan(a+p) = 22ac2 a+c?
a +c D 2ac
" tan(a-p)=
D. tan(a—B)= 22a02 a?—c?
a‘-c

127. The angle between the pair of straight ~ 127. &t war =i
lines

9 . o T yzsinze—xysin29+x2(cosze—1):1%ﬁ
y<sin© 6 —xysin“ 0+ x (cos 9—1):1

. sfir 3T I BITTI-
is-
A = A. g
2
B = B. g
3
C = C. %
4
D. 2n > %ﬁ
3
128. A solution to the equation 128, e tan 2 (14 )+ tan 2 (1-x) =
tan_1(1+x)+tan_1(1—x):E is- g
2 &I & &-
A x=1 A x=1
B. x=0 B. x=0
C. x=-1 C. x=-1
D. x=w D. x=w
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129. Evaluate- 129. g ifsrr-

tan x

lim (sinx) lim (sinx )"
X—)% X—)E
2
A 0 A. 0
B. 1 B. 1
C. = C. =
2 2
D. n D. n
130. If p and q are order and degree of 130. Ifg p q>T q TRt THIHIIT
differential equation 57 3/2 )
3/2 dy d%y
2 2 1+(_] —k| =X
1+(d—yj _y| &Y , then- dx } [dxz]
dx dx?
ohl ShIfe T &I 81 dl-
A. P>q A pP>q
B. p<q B. p<q
C. pP=q C. p=q
D.B:% D'E:l
q q 2
131. ) 131. t
Ifx:a{cost+logtan—},y:asmt, aﬁx:a[costﬂogtanﬂ,
then &Y. y=asintar Y-
dx dx
A. cost A. cost
B. sint B. sint
C. tant C. tant
D. cott D. cott
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132. The solution of differential equation

132. raehet TR

dy _ ;e dy
(X+Y+1)&—1|5 (x+y+1)OI =1 HTEA -
A xry=ce¥ A xry=ce¥
B. x+y+1=ce¥ B. x+y+l=ce¥
C. X+y+2=ce’ C. X+Yy+2=ce’
D. None of these D. T8 IS Tal
133. If 133. 7fe
2 3 n
X, X° . x X 23 n
y=l+—+—+—+———+— X XX X
L |_2 3 n y= 1+|_1+|_+|§+ +|ﬂ

then- al-
A. dy n

2 oy_x A. d

dx y %:y_xn
B. dy_, B. dy_

dx dx_y
c d_y:y_ﬂ C dy Xn

dx In dx _E
D n

d_y+y_+_x__o D dy Xn_O

dx [n ax VT

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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134. |f 134. gfz

) H o Ik KoK O
_ ' X- —_ |, X#
f(x) = %(+e%( f(x) = ook
0 , X=0 0 , Xx=0
then- ai-
A. f(_x) is continuous tiut not A, f(x), x = 0 T Eq & P s
differentiable at x =0 Y ATUUS
B. f(x) is not continuous at x = 0 but o
differentiable at x = 0 B. f(x), x =0 T &aq T & fohq
C. f(x) is neither continuous nor X = 0 T SATHAT §
differentiable at x = 0 C. f(x), x = 0 T A &aq & 3fT
D. None of these FTFTT
D. WA FIS &
135. Value of integral 135. gHTehetd
COS\/_
I j COS\/_d T T 2II-
A. 2005\/;+C A. ZCos\/;+C
B. 2sinvx+C B. 2sinJ/x+C
C. sinvx+C C. sinyx+C
ECOS X+ . ECOS\/;‘FC
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136. Match the following.

137.

Column—A
() Length of Subtangent
(1) Length of Normal
(1) Length of Tangent
(IV) Length of Sub Normal
Column-B

2
@ y- 1{"'—*]

(b) y-(dy/dx)
(c) y/(dy/dx)

@ v 1+(d—§j2

A. l-a, lI-b, Ill-c, IV-d
B. I-c, lI-d, Ill-a, IV-b
C. I-a, ll-d, lll-b, IV-c
D. I-c, lI-b, Ill-a, IV-d
If
f(x)=x-(x-1)-(x-2)
a=0, bzl,
2
find ¢ by using mean value theorem.
A.
1+@
6
B. 1_@
6

C. Both (A) and (B)
D. None of these

136. St SR

137.

Y- A
(1)  SUEuSt @ it a8
(1) SAfTeT it eAarg
(111) =937 @n <t &g
(1V) AT st ATg
Y- B

2
@ vy 1+(d—xj

dy
(b) y-(dy/dx)
(c) y/(dy/dx)

@ v 1+(j—§j2

A. I-a, lI-b, Ill-c, IV-d
B. I-c, lI-d, Ill-a, IV-b
C. I-a, lI-d, lll-b, IV-c
D. I-c, lI-b, lll-a, IV-d
afe

f(x)=x-(x-1)-(x-2)

a=0, bzl,

2
AT HETHTT THI T IUANT hieh ¢ T A
ELIERI

A o1

1+—
6

B. o1

P
6

C. (A)T (B) Ml
D. 79 @ &1 e
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138. The maximum value of function 138. e f(x) =sinx - (1+cos x) T A

f(x) =sinx-(1+cosx) will be at x = 9 x % g 719 W B
A n A n

2 2
B. =« B. =«
C. = C =

6 6
D. = D. =

3 3

139. The solutlondc;f the differential 139, Tt 2xj—y—y=3
equation 2x—=—y =3 represents- X
f “ax Y P T & TG T3Td LT 2-
A. Circle A. I
B. Ellipse B. drdag
C. Parabola c )
D. Straight Lines '
D. & @l
140. i i i 140.

Integratlondfactor of differential I G d_y(x logx)+y = 2logx
equation, %(xlogx)+y:2logx is- WWW%T—
A. log(logx) A. log(logx)
B. logx B. logx
C' eX C. eX
D. X D. x
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141 Area banded by the curve y = 4x —x2 141 oy — ax —x2 o x w17 @ fory et

and the x-axis is - Hus
A. 30 .
— s(. units A. 30
- S 7611?3%13‘
B. 32 .
— Q. units B. 32
3 ?aﬁ%r%
C. 31 .
— sQ. units C. 31
g Eaﬁ%rs‘
D. 53 :
= sq. units D. 33
—q 76111‘3%@
42. 142.
Value of the Integral j% is - Value of the Integral |
sin” x cos” X X
N ; (@A R ) [———— =
' %cot2x+3logtanx+5tan2x SINTXCOS™X
1 A. _—1cot2x+3logtanx+§tan2x
+=tan*x+C 2 2
4 1, 4
B 1 3 +Ztan x+C
' —cot2x+3logtanx+—tan2x
2 2 B. 1 .o 3.2
1. 4 —cot“ x+3logtan x + —tan“ x
+=tan* x+C 2 2
4 1. 4
co1 3 +Ztan x+C
' —cot2x+3logtanx——tan2x+C
2 2 C. 1 . 3. 2
D, -1 3 Ecot x+3|ogtanx—§tan x+C
© ““cot? x—3logtanx +=tan® x +C
2 2 D.

_?1cot2 x —3log tan x +gtan2 x+C
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143.

144,

145.

Which of the following is false
statement?

A. While applying waddles rule the
number of sub-interval should be
taken as a multiple of 6.

B. While applying Simpson’s 3/8"
rule the number of sub-interval
should be taken as a multiple of 3.

C. While applying Simpson’s 1/3"
rule the number of sub-interval
should be taken as a multiple of 3.

D. None of the above

Two events are said to be independent,
if-

(Two event are E and F)

A. P(EﬂF) = P(E)-P(F)

B. P(ENF)=P(E)-P(F)
C. P(ENF)=P(E)+P(F)
D. P(ENF)=P(E)+P(F)

Which of the following cannot be the
probability of an event?

A 1
3
B. 25
C. 15%
D. 0.9

143.

144,

145.

{2 T 9 R T A ST / TTeAd /2

A. dscd | (Weddle’s rule) AT 3d
HHT 39-3HAUA hl EEAT 6 F TS o
w9 | o STHT =Ry

B. farwwg 3/8 3 f49w (Simpson’s 3/8"
rule) TR T HHY Y-S h
HEAT 3 % OIS o &9 H At SAHT
SRy

C. fawae=g 1/3 3 f=w (Simpsons 1/3™
rule) TR T HHY Y-S h
T 3 % OIS o &9 H AT ST
ElRY

D. 3T § & 1S Tel

a1 TR Eaa g, afe

(&1 I E 3N F ?)

A. P(ENF)=P(E)-P(F)

B. P(ENF)=P(E)-P(F)

C. P(ENF)#P(E)+P(F)

D. P(ENF)=P(E)+P(F)

o T3 § @ i 91 foret oAt Shl TiRishdr
TET BT e 1?

A 1
3
B. 2.5

C. 15%
D. 0.9
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146. If we toss a fair coin n-times, the
probability of obtaining exactly m
heads (n-m tail) will be given by-

A.

147. The

GG
2 2

1 m 1 n+m

z) (3

2m 2n+m

n (ljmzmm

m/\ 2

-------- printer print one line at a

3

3 - 3 S

Drum Printer
Chain/Band Printer
Both A and B
Character Printer

148. Name the devices which surround a
computer’s CPU and memory?

A.

Peripheral Devices

B. Input Devices
C.
D. None of above

Output Devices

146. Ffe ush fAvaer ferent 1 n-a7 3BT 8,
ﬁ%m?ﬁﬁ(n—mqﬂ)maﬁﬁﬂm
39 TR T ST 2-

" EET
GG

C.(n oM on+m

3

3 >

3

D. (n 1m2n+m
m )\ 2

147, . Tiiex wsh T | U ATe e
8l

A. 3 e
B. =H/awE X
C. ASRBIH
D. e fimeX
148. 3 fearsal 1 AT FqTST S P
&1 3 ST AARY T B TEd 82
A. TR fearsq
B. 3qe fearsw
C. 3T feamgw
D. 3UIk 1S Tt
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149. Which software helps user in system
maintenance?

150.

A.

Operating System Software

B. Utility Software
C.
D. Application Software

Communication Software

Which of these is/are Input Device/s?

A.
B.
C.
D.

Digitizer

Touch Screen
Image Scanner
All of the above

149.

150.

I 9T GTFeAIR YR ohl foreeq
T@@TE § 7eg LT 87

A. T faeen ardeaat
B. Zcrdt dreeat

C. TER ATRRR

D. Tfteeha HTeaRT

T & i /& e feamew 22
A. fefersr

B. A &AM

C. T T

D. 3wk oyt
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34| SETA

IR 3ifoRd T /T HET 3Ee SAfereraw 3ik : 150

Time for making answers : 3 Hours Maximum Marks : 150

78 Tor gfRarent & A AT B |

ek T9T 1 37k T 8 | Tt T B AT AT 2 |

T2t ok IR & T8 OMR STR-{1E (eTraReiie) W sifewa i |

SRUTTCHEh HodTeha T TehdT TS |

ToREft off T8 o HeTEeIel AT AN e U WIATSE i T SIERT S § |
OMR STE (TTETINE) T TTNT Tl THT VHT I ATTITATH T
THi/ad NEd T8 We W a1 36 |ig 1 ferae anfe ug W e
FHAEIEY 9E T & W |

HUTerg 97T / fawat <ht foreqa et |

?\EJ':“S*’!"'."H/

qrr | farawor gt hT EEAT | 3R

oo

| Hllctchl 50 50

I T 50 50

I | oo 50 50

Note :

This question booklet contains three parts.

Each question carries 1 mark. All questions are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.

Use of any type of calculator or log table and mobile phone
is prohibited.

While using OMR Answer-Sheet care should be taken so that

ko

o

the Answer-Sheet does not get torn or spoiled due to folds and wrinkles.

Details of Parts/Subjects :

Part | Particular Total Question | Marks
I Physics 50 50
Il Chemistry 50 50
11 Mathematics 50 50
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